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   ھـ1441 – 1440 العام الجامعي  ولالدراسى الأالفصل  ي الأوللفصلا ختبارلاا

 

                                                     :     الجامعي الرقم                                                                  :   البـــــــــــــــاسم الط

  3 -  ریض101    :المقرر رمز                                           الریاضیات العامة     :  المـــقـــررم ـــــــــاس

  م2019 /  10 /    13    : التاریخ                        الاحد         : الیوم             ةساع    : الوقت المسموح

   Choose the correct answer: 1Question                               ::الإجابة الصحیحةأختر : السؤال الأول 

 المعكوس الجمعي لـ) 1(
3

4
 یكون .............                                           

3
(1) The additive inverse of  is ..........

4
   

(D)
4

3
  (C)

4

3
  (B)

3

4
  (A)

3

4
  

 

 :)اوجد قیمة(قیم ) 2(
1

5
....... 3

2


 

  
 

                                                                  
1

5
(2)Evaluate:   3 ..........

2


 

  
 

  

(D) 2  (C) 2  
(B)

1

2
  (A)

1

2
  

 
 3 5 2(3) Simplify using exponents properties: (2 )( )(4 ) .....a a a   

3 :سسبسط باستخدام خصائص الأ) 3( 5 2......... (2 )( )(4 )a a a    

5(D)8a  2(C)8a  3(B)8a  (A)8  

 

 :)اوجد قیمة(قیم   )4( 
1

216  …….                                                                    
1

2(4)  Evaluate: 16  =.........  

(D)is not real  (C) 4  (B) 4  (A) 4  

 

                3 2 3 2 3 2(5)simplify: 2 4 3 + 2 3 3 2 3 ..........x x x x x x x x            

 :بسط) 5(     3 2 3 2 3 2........ 3 2 3 2 3 2 4 3x x x x x x x x         

(D)3  (C) 6 3x   2(B) 6 3x   3(A)3 3x   

 

10  

  المملكـة العربیة السـعـودیة
  ــلیمــــــ التعهوزار
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3 :حلل) 6( 3 .....x y                                                                                                  3 3(6)Factor: ..........x y    

  2 2(D) x y x xy y      2 2(C) x y x xy y      2 2(B) x y x xy y      2 2(A) x y x xy y    

 

: حاصل ضرب) 7( 
2

....... 3a b                                                                       
2

(7)Multiplying 3 ..........a b   

2 2(D) 9 9a ab b   2 2(C) 6 9a ab b   2 2(B) 6a ab b   2 2(A) 3 9a ab b   

 

اذا كان ) 8(
9

=
4 6

x
                                                                        ........x  اذن  

9
(8)  If =  , then .........

4 6

x
x   

(D) 2  (C)9  (B)3  (A)6  

 
  2 3 4 3 3 2 4(9)The degree of a polynomials: 2 3 7 is .........x y z xy z x y z   

2درجة كثیرة الحدود ) 9( 3 4 3 3 2 42 3 7x y z xy z x y z   تكون .............   

(D) 9  (C) 8  (B)7  (A) 6  

 
..........  : اضرب) 10 ( (2 )( )4 3 2x x                                                      ...:(10) Multiply  (2 )( ) ..............4 3 2x x   

2(D)6 8 8x x   2(C)6 8 8x x   2(B)6 8 8x x   2(A)6 8 8x x   

 

Question 2:   

 :بسط ) 1(
3 35 ( 3 )x x                                                      

3 3(1)Simplify: 5 ( 3 )x x   

 

.  

  

  

  

      :بسط ) 2(   

32

3 3

m

n n 
 
 

 
                                              

32

3 3
(2) S im plify:      

m

n n 

 
 

 
  

  

  

1 

1 
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 :ط بس) 3(   
3

532 .....                                                                
3

5(3) Simplify: 32 .....   

  

 

 

 

  2(4) Multiply: 2 3 4 3 2x x x                       22 3 4 3 2x x x   اضرب) 4( :   

 

 

 

 

 

2 2(5) Subtract: 3 4 from 4 5 3.x x x    

43اطرح ) 5( 2 x من 
24 5 3x x . 

 

 

 

 

 

 

(6)Simplify: 5 8 2 18                             5 8 2 18    :بسط) 6(    

 

 

 

 

 

1 

1 

1 

1 
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Question 3:  Factor the following polynomials:                  )حلل كثیرات الحدود الآتیة) ب:                    

(1) 3 3ab ac db dc    

 

 

 

 

 

 

2(2) 9x   

  

 

 

.  

 

2(3) 3 2x x   

 

 

 

 

3(4)8 27x   

 

 

 

 

 

" The End"  
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1 

1 
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  ھـ4114 – 4014 العام الجامعي  ولالدراسى الأالفصل  ي الأوللفصلاختبار لاااجابة 

   Choose the correct answer: 1Question                               ::أختر الإجابة الصحیحة: السؤال الأول 

 المعكوس الجمعي لـ) 1(
3

4
 یكون .............                                           

3
(1) The additive inverse of  is ..........

4
   

(D)
4

3
  (C)

4

3
  (B)

3

4
  (A)

3

4
  

 

 :)اوجد قیمة(قیم ) 2(
1

5
....... 3

2


 

  
 

                                                                  
1

5
(2)Evaluate:   3 ..........

2


 

  
 

    

(D) 2  
(C) 2  (B)

1

2
  (A)

1

2
  

 
 3 5 2(3) Simplify using exponents properties: (2 )( )(4 ) .....a a a   

3 :سسبسط باستخدام خصائص الأ) 3( 5 2......... (2 )( )(4 )a a a    

5(D)8a  2(C)8a  3(B)8a  (A)8  

 

 :)اوجد قیمة(قیم   )4( 
1

216  …….                                                                    
1

2(4)  Evaluate: 16  =.........  

(D)is not real  (C) 4  (B) 4  (A) 4  

 

                3 2 3 2 3 2(5)simplify: 2 4 3 + 2 3 3 2 3 ..........x x x x x x x x            

 :بسط) 5(     3 2 3 2 3 2........ 3 2 3 2 3 2 4 3x x x x x x x x         

(D)3  (C) 6 3x   2(B) 6 3x   3(A)3 3x   

 
3 :حلل) 6( 3 .....x y                                                                                                  3 3(6)Factor: ..........x y     

  2 2(D) x y x xy y      2 2(C) x y x xy y      2 2(B) x y x xy y      2 2(A) x y x xy y    

 

10  

  كـة العربیة السـعـودیةالممل
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: حاصل ضرب) 7( 
2

....... 3a b                                                                       
2

(7)Multiplying 3 ..........a b   

2 2(D) 9 9a ab b   2 2(C) 6 9a ab b   
2 2(B) 6a ab b   2 2(A) 3 9a ab b   

 

اذا كان ) 8(
9

=
4 6

x
                                                                        ........x  اذن  

9
(8)  If =  , then .........

4 6

x
x   

(D) 2  (C)9  (B)3  
(A)6  

 
  2 3 4 3 3 2 4(9)The degree of a polynomials: 2 3 7 is .........x y z xy z x y z   

2درجة كثیرة الحدود ) 9( 3 4 3 3 2 42 3 7x y z xy z x y z   تكون .............   

(D) 9  (C) 8  (B)7  (A) 6  

 
.......... :  اضرب) 10 ( (2 )( )4 3 2x x                                                      ...:(10) Multiply  (2 )( ) ..............4 3 2x x   

2(D)6 8 8x x   2(C)6 8 8x x   
2(B)6 8 8x x   2(A)6 8 8x x   

 

Question 2:   

 :بسط ) 1(
3 35 ( 3 )x x                                                      

3 3(1)Simplify: 5 ( 3 )x x   

 

. 

   

 

3 33 3 3

3

3

3

3 3

 5 ( 3 ) 5

5

3

27

32275

x x

x

x

x

x

x

x

x



 





  

 





  

      :بسط ) 2(   

32

3 3

m

n n 
 
 

 
                                              

32

3 3
(2) S im plify:      

m

n n 

 
 

 
  

 
  

3 3

2 3

03

3 32 2 2 2

3 3 3

6

1

m m m m
m

n nnn
m

 

       
           

       


  

  

1 

1 
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 :ط بس) 3(   
3

532 .....                                                                
3

5(3) Simplify: 32 .....   

     
31

3
5

3

532 32 82
 

      






 

  2(4) Multiply: 2 3 4 3 2x x x                       22 3 4 3 2x x x   اضرب) 4( :   

      2 2 2

3

3

2 2

2

4 3 2 4 3 2 4 3

4 9

2 3 2 3

6

2

8 6

8 6

12

6 13

x x x x x x

x

x x

x x

xx

x x

x

       

  











 



 

2 2(5) Subtract: 3 4 from 4 5 3.x x x    

43اطرح ) 5( 2 x من 
24 5 3x x . 

 

   
   

22 2 2

2 2

2

4 5 3 3 4 4 5 3

4 3 5 3 4

3

5

4

1

x x x x x

x x

x x

x

x

       

    







 
 

(6)Simplify: 5 8 2 18                             5 8 2 18    :بسط) 6(    

18 9 25 2 5 2

5

8 4 2

2 2 2

10 6 4

3 2

22 2

   

 



 

 
 

 

 

 

 

 

1 

1 

1 

1 
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Question 3:  Factor the following polynomials:                  )دود الآتیةحلل كثیرات الح) ب:                    

(1) 3 3ab ac db dc    

   

   

  

3

3

3

3

3 3ab ac db dc b c b

b c b c

b

d d

a d

a

c

c

d

a

a 

      



 

 




 

 

2(2) 9x   

  2 9 3 3x x x      

 

2(3) 3 2x x   

  23 2 3 2 1x x x x       

 

3(4)8 27x   

  3 28 27 2 3 4 6 9x x xx      

 

 

 

 

" The End"  

1 

1 

1 
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The First Mid-Term Exam - Semester II - Year 1438/1439 H
SUBJECT: General Mathematics ( Mathematics ) code: Math 101(100)
Allowed Time: 1.5 Hour DATE: 9 /06/1439 H Full Marks: 20

” The Calculator is not Allowed”

Name: ID No.:

ANSWER THE FOLLOWING QUESTIONS: [ Mode B ]

Question 1. CHOOSE THE CORRECT ANSWER:

1. The additive inverse and the multiplicative inverse of −5

4
are .....and .....respectively.

(A) 5
4
and −4

5
(B) 5

4
and 4

5
(C) −5

4
and 4

5
(D) −5

4
and −4

5

2. 49a2 − 9b2 = .............

(A) (7a+ 3b) (7a+ 3b) (B) (7a− 3b) (7a+ 3b) (C) (49a− b) (a+ 9b) (D) (7a− 3b) (7a− 3b)

3.

(
4

3
− 2

5

)−1

= .............

(A)
14

15
(B) −15

14
(C)−14

5
(D)

15

14

4. Simplify: n

√
(2xy)3n = .............

(A) 8x3y3 (B) 2xy (C) 2x3y3 (D) 8x3ny3n

5. The degree of a polynomial x3y4z2 − 5x2y2z − x6y4z − 1 is......

(A) 9 (B) 5 (C) 10 (D) 11

1



Question 2. Simplify The Following:

(1)

(
2m4m−2

3m−3m2

)3

(2) (3a+ 2b)2

(3) 5x3 − (−2x)3

(4) (2x3) (x−2) (5x−1)

(5) 3
√
27− 4

√
12

(6)

(
−32y5

x10z5

) 2
5

(7) 3
√
−8m3n6w9

(8) (x3 + 6x2 − 4x− 5) + (3x3 − 4x2 + 4x+ 3)

(9) (x2 + 6x− 5) - (x3 − 2x− 2)

(10) (x+ 2y) (x2 − 2xy + 4y2)

2



Question 3. (A) Factor The Following:

(1) 2x4y − 16xy4

(2) 4xw + zy + 4zw + xy

(3) 2x2 − 5x− 3

(B) Solve:
2x+ 2

3
+ 8 = 2(x+ 3).

”The End”

3
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Question 1. CHOOSE THE CORRECT ANSWER: 

5
additive inverse multiplicative inver

5 4
(1)  The   and the of  are and  respectively.

4 5

The answe

se

r

 
4

A) (

   

2 2(2) (7 3 )(7 3 )

The answer 

49 9

(B)

aa b bb a    

1 1 1
4 5 3 2 14 15

3 5 15 14

The answe

4 2
(3)

 

3

r

5

(D)

 
     

   
 

  
 


    

3 3 33(4)  (2Sim ) 8plify: (2

The answer

)

(A) 

nn xy x yxy   

3 2 64 2 2 4(5)  5 1 is  11

The a

The degree of a polynomial

(D)nswer 

x y z x y zx y z    

Question 2. Simplify The Following: 
3 3 3 9 9

4 ( 2) ( 3) 2

3 2

3
4 2

3

3
22

(1)
3

2 2 8

3 3 3 27

m m m

m

m
m m

m



  



   
  

 
 

 
  

   
 

        
2 22 2 23(2 2 3 9 122 4) 3 2 2a a ba b a abb b       

   
33 3 3 3 3 33 3 35 2 5 8(3)5 ( 2 1) 8 35x x x xx xx x x            

    3 ( 2) ( 1) 03 2 1 10( 1014 0) 2 5x x x xx        

3 9 3(5)3 27 4 4 4 3 9 3 8 31 32      

   

   

22 111
5 255 255

1 110 5 2 4 2
10

2

5

5 5

1 5

5 5

0

323232 2
)

4
(6

yy y y

x z x z x z
x

y

z
x z

                     

 
 





 

 


 



3 3 33 3 6 9 2 33 6 9 3 8) 2(7 8 mm n w n w mn w     

   
       

3 2 3 2

3 3 2 2

2

3 2 3 2

3

6 4 5 3 4 4 3

3 6 4 4

(8) 6 4 5

4 5 3

4 2

3 4 4 3

2

x x x x xx x x x x x

x x

x

x x x x

x x

      

    

   

    

 

  





   2 2 3

3 2

3 6 5 2 2(9)

3

5 2

8

6 2 x xx x xx x x

x x x

        

   






 

      2 2 2 2

3 2 2 2 2 3

3

2 2

3

2 4 2 2 4

2 4 2 4 8

(10) 2

8

2 4 x x xy y y x xy y

x x y xy x

x y x xy

y y

x y

y

x

    

  

 











   

Question 3. (A) Factor The Following: 
3 34 2 24 2 ( 8 )(1 2 ( 2 )( 2 4 )) 2 16 xy x y xy x y xx yy yxy x       

   

   

  

4 4

4

(2) 4 4

4

xw zwxw zy

x z x z

x z

xy

w y

w y

zy zw xy  

 



    

 

 

 

  2(3) 2 5 3 2 1 3x x x x     

2 2 2 2
8 2( 3) 3 3 8 3 2( 3)

3 3

2

2 2
(B)Solve: 8 2( 3)

The s

3

2 24 6( 3)

2 26 6 18

6 2 26

olution set is

18

4 8 2

 {2}.

x x
x x

x x

x x

x x

x
x

x x

  
          

 

    

   

   

   


  



 



The First Mid-Term Exam - Semester II - Year 1438/1439 H
SUBJECT: General Mathematics ( Mathematics ) code: Math 101(100)
Allowed Time: 1.5 Hour DATE: 9 /06/1439 H Full Marks: 20

” The Calculator is not Allowed”

Name: ID No.:

ANSWER THE FOLLOWING QUESTIONS: [ Mode A ]

Question 1. CHOOSE THE CORRECT ANSWER:

1.

(
4

3
− 2

5

)−1

= .............

(A) −14

5
(B)

15

14
(C)

14

15
(D) −15

14

2. The additive inverse and the multiplicative inverse of −5

4
are .....and .....respectively.

(A) −5
4
and 4

5
(B) −5

4
and −4

5
(C) 5

4
and −4

5
(D) 5

4
and 4

5

3. Simplify: n

√
(2xy)3n = .............

(A) 2x3y3 (B) 8x3ny3n (C) 8x3y3 (D) 2xy

4. The degree of a polynomial x3y4z2 − 5x2y2z − x6y4z − 1 is......

(A) 10 (B) 11 (C) 9 (D) 5

5. 49a2 − 9b2 = .............

(A) (49a− b) (a+ 9b) (B) (7a− 3b) (7a− 3b) (C) (7a+ 3b) (7a+ 3b) (D) (7a− 3b) (7a+ 3b)

1



Question 2. Simplify The Following:

(1)

(
2x4x−2

3x−3x2

)3

(2) (3x+ 2y)2

(3) 5m3 − (−2m)3

(4) (2y3) (y−2) (5y−1)

(5) 4
√
27− 2

√
12

(6)

(
−32x5

y10z5

) 2
5

(7) 3
√
−8u3v6w9

(8) (x3 + 6x2 − 4x− 5) + (3x3 − 4x2 + 4x+ 3)

(9) (x2 + 6x− 5) - (x3 − 2x− 2)

(10) (x+ 2y) (x2 − 2xy + 4y2)

2



Question 3. (A) Factor The Following:

(1) 16x4y − 2xy4

(2) 3xw + zy + 3zw + xy

(3) 2x2 + 5x− 3

(B) Solve:
2x+ 4

3
+ 8 = 2(x+ 4).

”The End”

3



Answer Model [A] first mid-term  semester II  1438/1339 H 
 

Question 1. CHOOSE THE CORRECT ANSWER: 
1 1 1

4 5 3 2 14 15

3 5 15 14

The answe

4 2
(1)

 

3

r

5

(B)

 
     

   
 

  
 


    

5
additive inverse multiplicative inver

5 4
(2)  The   and the of  are and  respectively.

4 5

The answe

se

r

 
4

C) (

   

3 3 33(3)  (2Sim ) 8plify: (2

The answer

)

(C) 

nn xy x yxy   

3 2 64 2 2 4(4)  5 1 is  11

The a

The degree of a polynomial

(B)nswer 

x y z x y zx y z    

2 2(5) (7 3 )(7 3 )

The answer 

49 9

(D)

aa b bb a    

Question 2. Simplify The Following: 
3 3 3 9 9

4 ( 2) ( 3) 2

3 2

3
4 2

3

3
22

(1)
3

2 2 8

3 3 3 27

x x x

x

x
x x

x



  



   
  

 
 

 
  

   
 

        
2 22 2 23(2 2 3 9 122 4) 3 2 2x x yx y x xyy y       

   
33 3 3 3 3 33 3 35 2 5 8(3)5 ( 2 1) 8 35m m m mm mm m m            

    3 ( 2) ( 1) 03 2 1 10( 1014 0) 2 5y y y yy        

4 9 3 2 4 3 12 3 4 8 3(5) 4 27 32 12       

   

   

22 111
25 55 255

1 110 5 2 4 2
10

2

5

5 5

1 5

5 5

0

323232 2
)

4
(6

xx x x

y z y z y z
y

x

z
y z

                     

 
 





 

 


 



3 3 33 3 6 9 2 33 6 9 3 8) 2(7 8 uu v w v w uv w     

   
       

3 2 3 2

3 3 2 2

2

3 2 3 2

3

6 4 5 3 4 4 3

3 6 4 4

(8) 6 4 5

4 5 3

4 2

3 4 4 3

2

x x x x xx x x x x x

x x

x

x x x x

x x

      

    

   

    

 

  





   2 2 3

3 2

3 6 5 2 2(9)

3

5 2

8

6 2 x xx x xx x x

x x x

        

   






 

      2 2 2 2

3 2 2 2 2 3

3

2 2

3

2 4 2 2 4

2 4 2 4 8

(10) 2

8

2 4 x x xy y y x xy y

x x y xy x

x y x xy

y y

x y

y

x

    

  

 











   

Question 3. (A) Factor The Following: 
3 34 2 24 2 (8 ) 2 (2 )(4(1)1 2 )6 2 xy x y xyx y x y xy x yx y       

   

   

  

3 3

3

(2)3 3

3

xw zwxw zy

x z x z

x z

xy

w y

w y

zy zw xy  

 



    

 

 

 

  2(3) 2 5 3 2 1 3x x x x     

2 4 2 4
8 2( 4) 3 3 8 3 2( 4)

3 3

2

2 4
(B)Solve: 8 2( 4)

4 24 6( 4)

2 28 6 24

6 2 28 24

4 4 1

The solution set is {1}.

3

x x
x x

x x

x x

x x

x
x

x x

  
          

 

    

   

   

   


  



 



 

 

 

 

 

 

 

 

 

 

1 1 1 1 1
5 2 5 2 3 5 1 6 5 1

( ) 2 3
3 1 3 1 3 3 3

a
    

            
               

         
 

 

 

5 15 6 5 15 4 5 5 5 4
( ) 1

4 8 4 4 8 6 4 4 4 5
b

     
              
     

 

 

 

1 1

2 225 9 9 3
( )

9 25 25 5
c


   

     
   

 

 

 

 

 

 

3 3 3 3 3 3 3(1) 2 ( 3 ) 2 ( 27 ) 2 27 29y y y y y y y         

 

 

3 2 1 3 2 6(2) (2 )(3 )(4 ) (2 3 4) 24x x x x x      

 



13 ( 3)( 1) 3 3 3 3
3

4 4 (4)( 1) ( 4)( 1) 4 4 4 4 0
(3)

1

x x x x x x
x

y y y y y y y y

  

      

 
      

 
 

 

 

2
2 2 2 2(4) (2 ) (2 ) (2 ) 4

n
nn nxy xy xy x y    

 

 

(5) 2 18 2 2 2 9 2 2 2 2 3 2 2 2 6 2 2 2 4 2           

 

 

2 2 26 6 2 43

3
3 3 2

27 27 3 9
(6)

8 8 2 4

x x x x

y y y y

    
              

 

 

 

6 3 9 2 33(7 ) 6 4 4x y z x yz    

 

 

 

 

2 2(I) 2 5 1 6 (5 4 )(5 4 )x y x y x y     

 

 

3 3(II) 8 2 7 ( 2 3)( 4 6 9 )u u u u      

 

 

2(III) 3 4 1 5 (3 5)( 3)y y y y      

 

 



(IV ) 6 2 3 (6 2 ) ( 3 )

2 (3 ) ( 3 )

(3 )( 2 )

w y xz xy w z w y xy xz w z

y w x z x w

w x y z

       

    

  

 

 

 

 

(a ) The additive inverse and multiplicative inverse of 5
-

4
are 5

4
 and 4

-
5

 respectively. 

 

3 6
(b ) If  ;

8x
  then  6 24 4x x    

 

(c) Add: 4 33 4 2 4x x x    and 43 2 4x x    

             Sol.    4 3 4 33 4 2 4 3 2 4 4x x x x x x        

 

 

(d) Multiply: 2(2 3)(4 6 9)x x x        

         Sol. 2 2 3 2 2 32 (4 6 9) 3(4 6 9) 8 12 18 12 18 27 8 27x x x x x x x x x x x              

              

 

(e) Subtract: 2( 3 6)x x   from 3(2 3 6)x x   

      Sol. 3 2 3 2 3 2(2 3 6) ( 3 6) 2 3 6 3 6 2 12x x x x x x x x x x               

 

 

(f) Solve: 3( 3) 5 2 8x x      

3 9 5 2 8

3 4 2 8

3 2 8 4

4

{4}

x x

x x

x x

x

Solution set

   

  

  





 



 



 

 

 

 

 

 

 

 

 

 

1 1 1 1 1
7 2 7 2 4 7 1 8 7 1

( ) 2 4
4 1 4 1 4 4 4

a
    

            
               

         
 

 

 

5 15 6 5 8 6 2 6 2 4 4
( )

4 8 4 4 15 4 3 4 3 6 9
b
     

              
     

 

 

 

1 1

2 29 25 25 5
( )

25 9 9 3
c


   

     
   

 

 

 

 

 

 

3 3 3 3 3 3 3(1) 3 ( 2 ) 3 ( 8 ) 3 8 11y y y y y y y         

 

 

3 2 1 3 2 6(2) (2 )(3 )(4 ) (2 3 4) 24y y y y y      

 



24 4 (4)( 2) ( 4)( 2) 8 8 8 8 0

3 ( 3)( 2) 6 6 6 6

1
(3)

y y y y y y y y

x x x x x x

      

  

 
     

 
 

 

 

2
2 2 2 2(4) (2 ) (2 ) (2 ) 4

n
nn nuv uv uv u v    

 

 

(5) 2 18 3 2 2 9 2 3 2 2 3 2 3 2 6 2 3 2 9 2           

 

 

2 2
23 3 23

3
6 6 2 4

8 8 2 4
(6)

27 27 3 9

y y y y

x x x x

    
               

 

 

 

3 6 3 9 2 3(7 ) 6 4 4m n z m n z    

 

 

 

 

2 2(I) 1 6 2 5 ( 4 5 )( 4 5 )x y x y x y     

 

 

3 3(II) 8 2 7 ( 2 3)( 4 6 9 )u u u u      

 

 

2(III) 3 4 1 5 (3 5 )( 3)y y y y      

 

 



(IV ) 6 2 3 (6 2 ) ( 3 )

2 (3 ) ( 3 )

(3 )( 2 )

xy w z w y xz xy w y w z xz

y x w z w x

x w y z

       

    

  

 

 

 

 

(a ) The additive inverse and multiplicative inverse of 7

4
 are 7

4
 and 4

7
  respectively. 

 

3 6
(b ) If  ;

4 x
  then  3 24 8x x    

 

(c) Add: 4 33 4 2 4x x x    and 43 2 4x x    

             Sol.    4 3 4 33 4 2 4 3 2 4 4 4x x x x x x x         

 

 

(d) Multiply: 2(2 3)(4 6 9)x x x        

         Sol. 2 2 3 2 2 32 (4 6 9) 3(4 6 9) 8 12 18 12 18 27 8 27x x x x x x x x x x x              

              

(e) Subtract: 2( 3 6)x x   from 3(2 3 6)x x   

      Sol. 3 2 3 2 3 2(2 3 6) ( 3 6) 2 3 6 3 6 2 6 12x x x x x x x x x x x                

 

 

(f) Solve: 3( 5) 5 2 8x x      

3 15 5 2 8

3 10 2 8

3 2 8 10

2

{ 2}

x x

x x

x x

x

The Solution set

    

   

   

  

 

 

 



The First Mid-Term Exam - Semester I - Year 1438/1439 H
SUBJECT: General Mathematics ( Mathematics ) code: Math 101(100)
Allowed Time: 1.5 Hour DATE: 20 /02/1439 Full Marks: 20

Name: ID No.:

CHOOSE THE CORRECT ANSWER[ Model 1]

1.

(
7

4
+

2

4

)− 1
2

= .............

(A)
2

3
(B)

3

2
(C) −3

2
(D) −2

3

2. If
3

4
=

6

x
, then x = .........

(A) 4 (B) 8 (C) 6 (D) 3

3. 4
√
−16 = .......

(A) 2 (B) −2 (C) ±2 (D) not real

4. The additive inverse and the multiplicative inverse of −5

4
are .....and .....respectively.

(A) 5
4
and −4

5
(B) −5

4
and 4

5
(C) −4

5
and 5

4
(D) 5

4
and −4

5

5. Simplify: (x3)
3
= .............

(A) x7 (B) x12 (C) x6 (D) x9

6. Simplify:

(
x−3

y4y−4

)−2

= .............

(A) x9 (B) 1
x6 (C) x6 (D) 1

x9

7. Simplify: n

√
(2xy)2n = .............

(A) 8x3y3 (B) 16x2y2 (C) 9x2y2 (D) 4x2y2

8. 2
√
18− 2

√
2 = .............

(A)
√
2 (B) 3

√
2 (C) 4

√
2 (D) 2

√
2

9.

(
−27

64

) 2
3

= .............

1



(A)
9

16
(B)

16

9
(C)

4

9
(D)

9

4

10. The degree of a polynomial x4y3 − 5x3y3 − yx9 + 15 is......

(A) 7 (B) 8 (C) 9 (D) 10

11. (3x4 + 4x3 − 2x+ 4) + (−3x4 + 2x− 4) = .............

(A) 2x (B) 3x4 (C) 4x3 (D) 4

12. 25x2 − 16y2 = .............

(A) (5x− 4y) (5x+ 4y) (B) (4x− 5y) (4x+ 5y) (C) (5y − 4x) (5y + 4x) (D) (4y − 5x) (4y + 5x)

13. (2x+ 3) (4x2 − 6x+ 9) = .............

(A) 8x3 − 27 (B) 27x3 − 8 (C) 8x3 + 27 (D) 27x3 + 8

14. a3 − 1 = .............

(A) (a+ 1) (a2 − a+ 1) (B) (a− 1) (a2 − a+ 1) (C) (a− 1) (a2 + a+ 1) (D) (a+ 1) (a2 + a+ 1)

15. 3y2 + 4y − 15 = .............

(A) (3y + 5) (y − 3) (B) (3y − 5) (y + 3) (C) (3y + 3) (y − 5) (D) (3y − 5) (y − 3)

16. If 3 (x+ 3)− 5 = 2x+ 8, then the solution set is .......

(A) {3} (B) {4} (C) {5} (D) {2}

17. (2x) (3x3) (4x2) = ..........

(A) 24x8 (B) 24x7 (C) 24x6 (D) 24x9

11. (2x3 + 3x− 6)− (x2 + 3x+ 6) = .............

(A) 2x3 + 12 (B) 2x5 − x2 (C) 2x3 + 6x+ 12 (D) 2x3 − x2

The End.
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QUES. 
 NO. 

CHOOSE THE CORRECT ANSWER 

 
(1) 

  

1
3 5

..............
2 3


 

  
 

 

  A 8

5
 B 5

8
 C 19

6
 

D 6

19
 

(2) 3 32 ( 2 ) ....................x x    

 A 36x B 34x C 310x D 36x 
(3) 22

3 3
. . . . . . . . . . . . . . . . .

n

m m





 
 

 
 

 A 4n B 4n C 2n D 2n 
(4) 

 
1

4 6 8 24 .................a b c  

 A 2 3 42a b c B  4 3 42a b c  C  2 6 42a b c  D  2 4 64a b c  
(5) 2 26 10 4 .................x xy y   

 A   3 2 4x y x y 

 
B    3 2 4x y x y   C    3 2 2 2x y x y 

  
D    3 4 2x y x y   

(6) 3 327 .................x y  

 A   3 3x y x y  B 2 2( )( 3 3 )x y x xy y   C 2 2( 3 )( 3 9 )x y x xy y  

 
D 2 2( 3 )( 3 9 )x y x xy y  

 
(7) 2 24 9b a  

 A (3 2 )(3 2 )b a b a 

 
B (2 3 )(2 3 )b a b a  C (2 3 )(3 2 )b a b a  D (2 3 )(2 3 )b a b a  

(8) 1
4

...........
5


 

 
 

 

 A 5

4

 B 4

5
 C 4

5
 D 5

4
 

(9) 
...........

n

m

a

a
 

 A m na  B m na  C m na  D n ma  



(10) 2

327
............

8

 
 

 
 

 A 4

9
 B 9

4
 C 4

9
 D 9

4
 

(11) 1

225
............

16


 

 
 

 

 A 4

5
 B 5

4
 C 4

5
 D 5

4
 

(12) 2( 2 ) ....................x y  

 A 2 22x xy y  B 2 24 2x xy y 

 
C 2 24 4x xy y 

 
D 2 24 4x xy y  

(13)    3 2 3 23 2 2 3 2 2x x x x x x         

 A 36x B 24x C 2x D 4 
(14)   2 2x y x y   

 A 2 2x y B 2 22x y C 2 24x y D 2 24x y 

(15) 2 2(2 )(4 2 ) ..............x y x xy y    

 A 3 22x y B 3 38x y C 2 38x y D 3 38x y 

(16) 2 3( ) ...........a   

 A 1a B 5a C 6a D 6a 

(17) 27 5 3  

 A 9 3 B 6 3 C 8 3 D 3 3 
(18) ( 3 4) 5   

 A 12

5
 B 15

4
 C 3

20
 D 20

3
 

(19) Let   3(2 4) 2( 2),  then x=..........x x   

 A 4 B 8 C 4 D 8 
(20) Let 3 2( 2) 8, then  .........y y y    

 A 6 B 4 C 12 D 4 

     

  

  

  



QUES. 
 NO. 

CHOOSE THE CORRECT ANSWER 

 
(1) 

  

1
3 4

..............
2 3


 

  
 

 

  A 7

5
 B 5

7
 C 17

6
 

D 6

17
 

(2) 3 33 ( 3 ) ....................x x    

 A 312x B 324x C 324x D 39x 
(3) 23 3

2
. . . . . . . . . . . . . . . . .

m m

n

 
 

 
 

 A 4n B 4n C 2n D 2n 
(4) 

 
1

4 6 8 216 .................a b c  

 A 2 3 44a b c B  4 3 42a b c  C  2 6 416a b c  D  2 4 64a b c  
(5) 2 26 10 4 .................x xy y   

 A   3 2 4x y x y 

 
B    3 2 4x y x y   C    3 2 2 2x y x y 

  
D    3 4 2x y x y   

(6) 3 327 .................x y  

 A   3 9 3x y x xy  B 2 2(3 )(9 3 )x y x xy y  

 
C 2 2(3 )(9 3 )x y x xy y  

 
D 2 2(3 )(9 3 )x y x xy y  

 
(7) 2 29 4b a  

 A (3 2 )(3 2 )b a b a 

 
B (3 2 )(3 2 )b a b a  C (3 2 )(3 2 )b a b a  D (2 3 )(3 2 )b a b a  

(8) 1
5

...........
4


 

 
 

 

 A 5

4

 B 4

5
 C 4

5
 D 5

4
 

(9) 
...........

m

n

a

a
 

 A m na  B m na  C m na  D n ma  



(10) 2

38
............

27

 
 

 
 

 A 4

9
 B 9

4
 C 4

9
 D 9

4
 

(11) 1

216
............

25


 

 
 

 

 A 4

5
 B 5

4
 C 4

5
 D 5

4
 

(12) 2( 2 ) ....................x y  

 A 2 22x xy y  B 2 24 2x xy y 

 
C 2 24 4x xy y 

 
D 2 24 4x xy y  

(13)    3 2 3 23 2 2 3 2 2x x x x x x         

 A 36x B 24x C 2x D 4 
(14)   2 2x y x y   

 A 2 2x y B 2 22x y C 2 24x y D 2 24x y 

(15) 2 2(2 )(4 2 ) ..............x y x xy y    

 A 3 22x y B 3 38x y C 2 38x y D 3 38x y 

(16) 2 3( ) ...........a  

 A 6a B 5a C 8a D 9a 

(17) 27 5 3  

 A 3 3 B 2 3 C 5 3 D 2 3 
(18) 3 (4 5)   

 A 12

5
 B 5

12
 C 15

4
 D 4

15
 

(19) Let   3(2 1) - 2 5( 4),  then x=..........x x   

 A 5 B 8 C 15 D 19 
(20) Let 3 2( 2) 8, then  .........y y y    

 A 6 B 4 C 12 D 4 

     

  

  

  



First Exam- Semester I - Year 1437/1438
SUBJECT: General Mathematics ( Mathematics ) code: Math 101(100)
Allowed Time: 1:30 Hour DATE:20/06/1438 Full Marks: 20

Name: ID No.:

CHOOSE THE CORRECT ANSWER[ Model 2]

1.

(
64x3

27y6

)2

3
= .............

(A)
16x2

9y2
(B)

4x2

3y4
(C)

16x

9y2
(D)

16x2

9y4

2. Given a polynomial 5x3y − 2x2y3 − 6x2 − 5, then its degree is......

(A) 2 (B) 0 (C) 5 (D) 4

3. 5
√
27− 4

√
12 = .............

(A) 7
√
3 (B) 8

√
3 (C) 23

√
3 (D) 15

√
3

4. 2
√
x
(
3
√
x− 1√

x

)
= .............

(A) 6x (B) 6x− 2 (C) 6x2 − 2 (D) 6x− 1

5. (3x+ 2y)2 = .............

(A) 9x2 − 12xy + 4y2 (B) 9x2 − 6xy + 4y2

(C) 9x2 + 6xy + 4y2 (D) 9x2 + 12xy + 4y2

6. Factor: 3xy − xz − 6wy + 2wz = .............

(A) (2y − z) (x+ 3w) (B) (y − 3z) (2x+ w)
(C) (3y − z) (x− 2w) (D) (3y − z) (x+ 2w)

7. Add: (3x4 − 2x3 + x2) + (x3 − 3x2 + x− 5) = .............

(A) (3x4 − x3 − 2x2 + x− 5) (B) (3x4 − x3 + 3x2 + 5)
( C) (3x7 − 6x5 + 2x2) (D) (3x4 − x3 − x2 − 5)

8. Subtract:2x2 + 3x− 2 from 3x2 + 3x− 3

(A) 5x2 − 5 (B) x2 − 1 (C) x2 + 1 (D) x2 + 5

1



9. Factor: (3y2 + 4y − 15) = .............

(A) (3y + 3) (y − 5) (B) (3y − 5) (y − 3)
(C) (3y + 5) (y − 3) (D) (3y − 5) (y + 3)

10. If 5 (x− 4) + 10 = 2 (x− 8)− 3, then the solution set is x =.........

(A) {2} (B) {3} (C) {−3} (D) {−2}

11. Factor: (16a2 − 25b2) = .............

(A) (4a+ 5b) (4a− 5b) (B) (a− 25b) (16a+ b)
(C) (4a+ 5b) (4a+ 5b) (D) (4a− 5b) (4a− 5b)

12. Factor: (64u3 − 27) = .............

(A) (4u− 3) (16u2 − 24u+ 9) (B) (4u− 3) (16u2 + 12u+ 9)
(C) (4u− 3) (16u2 − 12u+ 9) (D) (4u+ 3) (16u2 − 24u+ 9)

13. If
6

a
=

4

6
, then a = .......

(A) 12 (B) 4 (C) 6 (D) 9

14. (3x2) (2x3) (x−5) = .............

(A) 6x8 (B) 6x10 (C) 6 (D) 6x5

15. 5

(
3

2
+

2

7

)−1
= .............

(A)
14

5
(B)

5

14
(C)

25

7
(D)

7

25

16. The additive inverse and the multiplicative inverse of −4

3
are .....and .....respectively.

(A)
4

3
and

3

4
(B)

4

3
and − 3

4
(C) −4

3
and

3

4
(D) −3

4
and

4

3

17.

(
16x4y8

z4

)1

4
= .............

(A)
4xy

z
(B)

2xy2

z
(C)

4xy2

z
(D)

8xy2

z

18. 5

√
32 (2u2v3)0 = .............

(A) 2u2v3 (B) 4uv (C) 2 (D) 4u2v3

19.
15m4n−5

12m3n−6
= .............

(A)
5mn

4
(B)

5n

4n
(C)

5m

4n
(D)

4m

5n

20.
a2(m−n)

a2(n−m)
= .............

(A) a−4m−4n (B) 1 (C) a4m+4n (D) a4m−4n

2



The First Mid-Term Exam - Semester I - Year 1438/1439 H
SUBJECT: General Mathematics ( Mathematics ) code: Math 101(100)
Allowed Time: 1.5 Hour DATE: 9 /02/1439 Full Marks: 20

Name: ID No.:

ANSWER THE FOLLOWING QUESTIONS: [ Model 2]

Question 1. Evaluate The Following:

(a)

(
2− 7

4

)−1

(b)

(
5

4
÷ 15

8

)
÷ 6

4

(c)

(
9

25

)− 1
2

Question 2. Simplify The Following:

(1) 3y3 − (−2y)3

(2) (2y) (3y3) (4y2)

1



(3)

(
y4y−4

x−3

)−2

(4) n

√
(2uv)2n

(5) 2
√
18 + 3

√
2

(6)

(
− 8y3

27x6

) 2
3

(7) 3
√
−64m6n3z9

Question 3. Factor The Following:

(I). 16x2 − 25y2

(II) 8u3 + 27

(III) 3y2 − 4y − 15

2



(VI) 6xy − wz − 2wy + 3xz

Question 4.

(a) The additive inverse and the multiplicative inverse of −7

4
are .....and .....respectively.

(b) If
3

4
=

6

x
, then x = .........

(c) Add: 3x4 + 4x3 + 2x+ 4 and −3x4 + 2x− 4

(d) Multiply: (2x− 3) (4x2 + 6x+ 9)

(e) Subtract: (x2 − 3x+ 6) from (2x3 + 3x− 6)

(f) Solve: 3 (x+ 5)− 5 = 2x+ 8.

The End.
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